
COVER SHEETDRAWN BY
PETE VEALE 

ISSUE
6/26/25

CLIENT
Town of 

Greenwich

PROJECT
Hudson 

Riverside
Park 

PROJECT NO.
245.170

TOWN OF GREENWICH NEW YORK

HUDSON RIVERSIDE PARK 
NEW PICNIC PAVILION

B I D    D O C U M E N T S  



IS
S

U
E

6/
26

/2
5

D
R

A
W

N
 B

Y
PE

TE
 

VE
AL

E

C
LI

EN
T

To
w

n 
of

 G
re

en
w

ic
h

G
re

en
w

ic
h 

N
Y

P
R

O
JE

C
T

H
U

D
SO

N
 

R
IV

ER
SI

D
E 

PA
R

K

P
R

O
JE

C
T 

N
O

.
BD

00
0

B
EA

R
D

S
LE

Y
 A

R
C

H
IT

EC
TS

  
&

 E
N

G
IN

EE
R

S

69
 S

TA
TE

 S
TR

EE
T

AL
BA

N
Y,

 N
Y 

12
20

7

Fr
am

in
g 

Pl
an

A B C D E

A01

A FRAMING PLAN
Scale: 3/16" = 1'-0" (1:64)

E

24
'-

7/
8"

3'-3/8"
2'-8 3/4"

2'-8 3/4"
4" x 8" RAFTERS

8" x 10" PERIMETER BEAM

8" x 8" TRUSS
8" x 10" RIDGE BEAM

A.1A.1

11'-6" 11'-6" 11'-6" 11'-6"

3'-1/4"



IS
S

U
E

6/
26

/2
5

D
R

A
W

N
 B

Y
PE

TE
 

VE
AL

E

C
LI

EN
T

To
w

n 
of

 G
re

en
w

ic
h

G
re

en
w

ic
h 

N
Y

P
R

O
JE

C
T

H
U

D
SO

N
 

R
IV

ER
SI

D
E 

PA
R

K

P
R

O
JE

C
T 

N
O

.
BD

00
0

B
EA

R
D

S
LE

Y
 A

R
C

H
IT

EC
TS

  
&

 E
N

G
IN

EE
R

S

69
 S

TA
TE

 S
TR

EE
T

AL
BA

N
Y,

 N
Y 

12
20

7

N
or

th
 / 

W
es

t
El

ev
at

io
n 

6

12

METAL ROOF ON #30 FELT ROOF DECK PROTECTION ON 2" X 6" PINE /FIR T&G PLANKS
GLUE T&G PLANKS WITH TITEBOND GLUE OR EQUIVALENT

EXISTING CONCRETE 49' X 26'-9" SLAB

A04

B NORTH ELEVATION
Scale: 3/16" = 1'-0" (1:64)

A06

G FLOOR PLAN
Scale: 1/16" = 1'-0" (1:192)

EXISTING CONCRETE SLAB

A03

A WEST ELEVATION
Scale: 3/16" = 1'-0" (1:64)

11'-6" 11'-6" 11'-6" 11'-6"

1'-6"1'-6"

26
'-

9"

49'-0"

EACH POST REQUIRES AN 
EFFECTIVE 6.5 SQFT 
FOUNDATION AREA

8" x 10" CEDAR BEAM

8" x 8" CEDAR POST

8" x 8" CEDAR TRUSS

8" x 8" CEDAR TRUSS

8" x 8" CEDAR TRUSS

10
'-

0"

4" x 6" CEDAR KNEE BRACE

8" x 8" CEDAR POST

8" x 10" CEDAR BEAM

17
'-

5 
3/

4"

7'
-3

 7
/8

"

4" x 8" CEDAR RAFTERS
1'-6"

A.2

4" x 6" KNEE BRACE

10
'-

0"



IS
S

U
E

6/
26

/2
5

D
R

A
W

N
 B

Y
PE

TE
 

VE
AL

E

C
LI

EN
T

To
w

n 
of

 G
re

en
w

ic
h

G
re

en
w

ic
h 

N
Y

P
R

O
JE

C
T

H
U

D
SO

N
 

R
IV

ER
SI

D
E 

PA
R

K

P
R

O
JE

C
T 

N
O

.
BD

00
0

B
EA

R
D

S
LE

Y
 A

R
C

H
IT

EC
TS

  
&

 E
N

G
IN

EE
R

S

69
 S

TA
TE

 S
TR

EE
T

AL
BA

N
Y,

 N
Y 

12
20

7

TR
U

SS
PL

AT
ES

1'-6 1/2" 4"

1'-7"
2"

3"

3"

4"

3/
8"

3/8"

3/8"

1 1/8"

1'-1"

1/8"

1/4"
1/4"

1/4"

1/4"

3/
8"

2 5/8"

1/8"
1/4"

1/4"3/
8"

1/8"

1/4"

1/
4"

6

12

A00

A ELEVATION
Scale: 3/16" = 1'-0" (1:64)

A01

B STEEL TRUSS PLATE 
Scale: 1" = 1'-0" (1:12) 

A02

C STEEL TRUSS PLATE 
Scale: 1" = 1'-0" (1:12) 

A03

D STEEL TRUSS PLATE 
Scale: 1" = 1'-0" (1:12) 

A04

E STEEL TRUSS PLATE 
Scale: 1" = 1'-0" (1:12) 

NOTE:  ALL TIMBER TRUSS PLATES TO BE 1/4" STEEL WITH BLACK POWDER COATING 
AND 11/16" HOLES FOR 1/2" X 8 1/2" THROUGH BOLTS

A.3

1/2" x 8-1/2" THROUGH BOLTS

1/2" x 8-1/2" THROUGH BOLTS

1/2" x 8-1/2" THROUGH BOLTS

1/2" x 8-1/2" THROUGH BOLTS

4" 4"

6 1/2"

1'-1" 1'-1"

8 
5/

8"



IS
S

U
E

6/
26

/2
5

D
R

A
W

N
 B

Y
PE

TE
 

VE
AL

E

C
LI

EN
T

To
w

n 
of

 G
re

en
w

ic
h

G
re

en
w

ic
h 

N
Y

P
R

O
JE

C
T

H
U

D
SO

N
 

R
IV

ER
SI

D
E 

PA
R

K

P
R

O
JE

C
T 

N
O

.
BD

00
0

B
EA

R
D

S
LE

Y
 A

R
C

H
IT

EC
TS

  
&

 E
N

G
IN

EE
R

S

69
 S

TA
TE

 S
TR

EE
T

AL
BA

N
Y,

 N
Y 

12
20

7

AN
C

H
O

R
S 

& 
BR

AC
KE

TS

4"

8"

A00

A ELEVATION
Scale: 3/16" = 1'-0" (1:64)

A01

B ANCHORS & UPLIFT BRACKETS
Scale: <Scale>

A02

C POST ANCHOR
Scale: <Scale>

4" x 8" (1/2" PLATE STEEL) POST ANCHOR
BLACK POWDER COATING 

2"x4" STEEL ANGLE
UPLIFT BRACKETS, 
BLACK POWDER COATING
3/8" x 3-1/2" LAG BOLTS

3/8 "x 3-1/2" GALVANIZED LAG BOLTS

5/8" DIA. EPOXY ANCHOR HIT RE 500 OR 
APPROVED EQUAL EXPANSION BOLTS 8" EMBED
(ADD 1" OF SPACERS TO ELEVATE
ANCHOR OFF OF CONCRETE SLAB).

A03

D ROOF PLAN
Scale: 1/16" = 1'-0"

49'-7 1/4"

27
'-

11
 1

/4
"

A.4

4"x8" STEEL ANGLE BRACKET
BLACK POWDER COATING
3/8" x 3-1/2" LAG BOLTS

3" X 12" STEEL PLATE 
BLACK POWDER COATING 
3/8" x 3-1/2" LAG BOLTS 

3" X 6" STEEL ANGLE 
BLACK POWDER COATING 
3/8" x 3-1/2" LAG BOLTS 

METAL ROOF 
ABC METAL ROOFING
MASTERRIB 36" FOREST GREEN 
OR APPROVED EQUAL.

RIB SPACING: 9" ON CENTER
RIB HEIGHT: 3/4"
EXPOSED FASTENING SYSTEM
29 GAUGE - SMOOTH FINISH
GALVALUME PLUS SIGNATURE 200
AVAILABLE CURTIS LUMBER

ON 30LB ROOF FELT  

END TRIM 
PIECE TYPICAL

EXISTING CONCRETE SLAB

2) TBS8180 ROTHOBLAAS 
 TOP AND BOTTOM - TYP



IS
S

U
E

6/
26

/2
5

D
R

A
W

N
 B

Y
PE

TE
 

VE
AL

E

C
LI

EN
T

To
w

n 
of

 G
re

en
w

ic
h

G
re

en
w

ic
h 

N
Y

P
R

O
JE

C
T

H
U

D
SO

N
 

R
IV

ER
SI

D
E 

PA
R

K

P
R

O
JE

C
T 

N
O

.
BD

00
0

B
EA

R
D

S
LE

Y
 A

R
C

H
IT

EC
TS

  
&

 E
N

G
IN

EE
R

S

69
 S

TA
TE

 S
TR

EE
T

AL
BA

N
Y,

 N
Y 

12
20

7

Ax
on

om
et

ric
 / 

El
ec

tri
c

A00

A AXONOMETRIC VIEW
Scale: NTS

A01

B AXONOMETRIC VIEW
Scale: NTS

A02

C AXONOMETRIC VIEW
Scale: NTS

A.5



IS
S

U
E

6/
26

/2
5

D
R

A
W

N
 B

Y
PE

TE
 

VE
AL

E

C
LI

EN
T

To
w

n 
of

 G
re

en
w

ic
h

G
re

en
w

ic
h 

N
Y

P
R

O
JE

C
T

H
U

D
SO

N
 

R
IV

ER
SI

D
E 

PA
R

K

P
R

O
JE

C
T 

N
O

.
BD

00
0

B
EA

R
D

S
LE

Y
 A

R
C

H
IT

EC
TS

  
&

 E
N

G
IN

EE
R

S

69
 S

TA
TE

 S
TR

EE
T

AL
BA

N
Y,

 N
Y 

12
20

7

Ax
on

om
et

ric
 / 

El
ec

tri
c

A00

A ELECTRICAL / LIGHTING PLAN
Scale: 1/8" = 1'-0"

A.6

S1

L1

L1

L2

L2

L2

L2

L2

L2

P1
P1

L1 LIGHT FIXTURE
23" GOOSENECK 20"DOME
STEEL LIGHTING CO. - REDONDO
HUNTER GREEN EXTERIOR 
WHITE INTERIOR 
OR APPROVED EQUAL 

S1 WEATHERPROOF 
LIGHT SWITCH

WEATHERPROOF GFCI 
DUPLEX OUTLET

L2 LIGHT FIXTURE
12" STEM 20" DOME
STEEL LIGHTING CO. - 
MANHATTAN
HUNTER GREEN EXTERIOR
WHITE INTERIOR 
OR APPROVED EQUAL. 

TO ELEC. PANEL 
IN MAIN BUILDING



IS
S

U
E

6/
26

/2
5

D
R

A
W

N
 B

Y
PE

TE
 

VE
AL

E

C
LI

EN
T

To
w

n 
of

 G
re

en
w

ic
h

G
re

en
w

ic
h 

N
Y

P
R

O
JE

C
T

H
U

D
SO

N
 

R
IV

ER
SI

D
E 

PA
R

K

P
R

O
JE

C
T 

N
O

.
BD

00
0

B
EA

R
D

S
LE

Y
 A

R
C

H
IT

EC
TS

  
&

 E
N

G
IN

EE
R

S

69
 S

TA
TE

 S
TR

EE
T

AL
BA

N
Y,

 N
Y 

12
20

7

R
EN

D
ER

ED
VI

EW
S

A.6

WOOD SIGN BY OTHERS
(CONTRACTOR TO INSTALL)

TABLES AND LOOSE 
FURNITURE BY OTHERS

23" GOOSENECK BARN LIGHT 

STRAIGHT PENDANT BARN LIGHT



IS
S

U
E

6/
26

/2
5

D
R

A
W

N
 B

Y
PE

TE
 

VE
AL

E

C
LI

EN
T

To
w

n 
of

 G
re

en
w

ic
h

G
re

en
w

ic
h 

N
Y

P
R

O
JE

C
T

H
U

D
SO

N
 

R
IV

ER
SI

D
E 

PA
R

K

P
R

O
JE

C
T 

N
O

.
BD

00
0

B
EA

R
D

S
LE

Y
 A

R
C

H
IT

EC
TS

  
&

 E
N

G
IN

EE
R

S

69
 S

TA
TE

 S
TR

EE
T

AL
BA

N
Y,

 N
Y 

12
20

7

R
EN

D
ER

ED
VI

EW
S

A.7



IS
S

U
E

6/
26

/2
5

D
R

A
W

N
 B

Y
PE

TE
 

VE
AL

E

C
LI

EN
T

To
w

n 
of

 G
re

en
w

ic
h

G
re

en
w

ic
h 

N
Y

P
R

O
JE

C
T

H
U

D
SO

N
 

R
IV

ER
SI

D
E 

PA
R

K

P
R

O
JE

C
T 

N
O

.
BD

00
0

B
EA

R
D

S
LE

Y
 A

R
C

H
IT

EC
TS

  
&

 E
N

G
IN

EE
R

S

69
 S

TA
TE

 S
TR

EE
T

AL
BA

N
Y,

 N
Y 

12
20

7

R
EN

D
ER

ED
VI

EW
S

A.8


